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Instruction

: () ()

: (A)

(i)

(iii)

(iv)

)

¥ 7H1 7 SIS

Attempt all questions.

SEFFATER w@iras S9R¢ |
Draw the diagrams / sketches wherever necessary.
T I 15/ 20 T F WA § e fased g T E

In Question Nos. 15 to 20, internal options are given.

gfe i o, fom weii # wAfes 3 sga Wit fg e R,
TTh F W T whars / fadaet % 1-1 fag faam)

Visually impaired students will write 1-1 point of speciality of
that places in the map-making questions.

Fav aifud BT ST YT ¥ IW, TE @ AU & W™WH W
Faa fagar fa@n

Hearing impaired students will write the long answer type

questions with points only.
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Instruction

-1

[2]  CcGBOARDonline.com

(%) 79 w1 agfrs v 31 3o @ (a1), @ve (9) w
U (W) ¥ | 7l woe ¥ g wea § 991 wdE We % fag
1-1 e Eifeq &

: (B) Question No. 1 is an objective type question. There are

three Sections—(A), (B) and (C) in it. Five questions are
given in each section and each question carries 1 mark.

|ug-( 27 ) 9l fawew gt fafa

Section-(A) Choose and write the correct option :

@

(1)

Wt I d € : CGBOARDonline.com
(37) ~F 5 () e e
() fasm <. e (%) = Q% el

Following is an American geographer :
(@) Jean Brunches (b) Friedrich Ratzel
(c) Vidal de la Blache (d) None of them

R H fefmrganT § (2011 Y SHTORT 3 STHER)
(37) 933 il ufd eI %Y

() 940 Tt Afd TR B

() 942 &t wia &R I&W

(%) 935 Gl 9 591K o9

India has sex ratio (According to the 2011 census) :
(a) 933 women per thousand men

(6) 940 women per thousand men

(¢) 942 women per thousand men

(d) 935 women per thousand men

" (i) Tava &1 sirgg seEEn g i i fe, §

(37) 40 =AfF (7)) 50 =f
(T) 323 =i (%) 333 =fw

World’s average population density per square kilometer is :
(@) 40 persons (b) 50 persons
(c) 323 persons (d) 333 persons

[1x5=5]
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(iv) SV IR H wra w fava A e #

) WYH
(%) CGBOARDounline.com ( 7 Tl
(7)) A (3) =gd
India has a place in the world in mica production :
(a) First (b) Second
(c) Third (d) Fourth
(v) WmFARFRRTAML?
(37) HETEl (%)
(&) @R (3) T8
Rajim is situated on the bank of the river :
(@) Mahanadi (b) Indravati
(¢) Kharun (d) Hasdo
wue-(«) fea Tl &1 i e [1%x5=5]

Section-(B) Fill in the blanks :
() fava sEEn gfg W — Fiowwe 4
World population growth rate is ___ percent.
(i) e el — R TEIm AR
___country has controlling power of Suez canal.
(i) g @l W ffHa s afoed —— HEAN © |
The settlement built on mountain slopes is called ___.

(iv) — S &G HE D R

is given the name of green gold.

(V) —— e @ e 1w e S R
___ waterfall is called the Niagra of Asia.
wres-( ) 3 g4y sifgr: CGBOARDonline.com [1x5=5]
@ (D
(i) we-TEa I (31) iEw S
(if) I < e R W (W) TR
(i) afEEa TR () @&
(fv) = IUEH TG T (B) HIRR

(v) TG T I (3) oTEH
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Section-(C) Match the column :

1)) an
(/) Iron and Steel Industry (a) West Bengal
(i) lndia’s highest sex ratio State  (b) Mumbai
(iif) Transport city (c) Kerala
(iv) Tea producing major State (d) Jamshedpur
(v) Durgapur Steel Plant (e) Assam

Fcer : (W) W w2 ¥ 7 79 SAfaagswid W €| ToE T W
2 37 amEfed €1 (S AfyFan -9 30 78 ®)

Instruction : (C) Question Nos. 2 to 7 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 “’DTdS) CGROARDonline.com

wWH-2 U S F IR Rfaeq &1 {@rres R | 2]
Draw a diagram of the circular pattern of rural settlement.

WyA-3  HEEH TR FQ dEa €2 (2]
What is called Oasis city?

UeR-4  HMQ 1 arqd ¥ ? 2]
What is meant by agriculture?

WHA-5  WRa H soE faan el ag g @ 2 (2]
After how many years census done in India?

WH-6  TvEted ww fHd wed €2 (2]
What is called disestablished settlement?

WA-7  RA ¥ FA-W @9 Saa sdae | fraar g 2 [2]

Which mineral is found only in Chhattisgarh in India?

fder : () 9 wHiE 8 | 14 1% ATO=ala vH ¥ WF I W
3 3fF Efen €1 (IW HY Afuwmam w=-w 50 wee )

Instruction : (D) Question Nos. 8 to 14 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of

answer is 50 words) CGBOARDonline.com
-8 T et & STgER o e W faeg- 2 waRy E)

According to the Vidal de 1a Blache, write subject area of human geography.

M-59 A
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TR T 31 & Sur W Fremifea weAl ¥ s S
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B3]

H T

@

49 Y@ W9 EERw 9

qy-9

1200

(@) T& ANE HA-W & ?
(b) fEar s E?

(c) waifus famum frg M F R ?

Answer the following questions based on the given diagram :

(uawiopp) oney xos
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(@) What is this diagram? CGBOARDonline.com
(b) How many scales are there?

{¢) Which country has the highest sex ratio?

W9A-10  URYER 9REET %1 Wew fafae | (Rg @7) | (3]
Write the importance of pipeline transport. (any three)
-1 VI TR g Fol F feafa guRy ¥ RRe e e wE-HE 9 €2 [3]

What are the efforts made by the Indian Government to improve the

status of women?

wv-12 SR FiE T @ geend fafee) [3]

Write three problems of Indian agriculture.

uva-13  SEEe 96 W feumi fafae) 3]

Write a note on Indrawati River.

woT-14 e 6 ware wonel T i feoreht fafaw) [3]

Write a short note on the Narmada river flow system.

fdsr . (3) W FEE 15 ¥ 17 T dYSAIT W €| TEF W W
4 3t AMEfed ¥ (IW i Afuen T=-H 75 T ®)

Instruction : (E) Question Nos. 15 to 17 are short answer type questions.
Each question carries 4 marks. (Maximum word limit of
CGBOARDouline.com answer is 75 words)

WgA-15 fava ¥ <R W@ SaETEdr argEl 1 v Fif ) [4]
Describe the world’s four major intercontinental airways.
3re/ |/ OR

ste—agAfte emn  HEAf F - = FE ¥ 2 e

Why is the Trans-Siberian Railway called the lifeline of Siberia?
Clarify it.

wI-16 s 7 Wt B g "o S SifeE I T Rt ? [4]

Indian coastline is long, but the trade of fish is not so advanced. Why?



(7]
HYFT/OR
"l ST famm 1 9 ) 3R S W g Fift

“Iron ore is the mother of development.” Confirm the statement.

CGBOARDonline.com

17 211 A U Wi At (TISCO) 3 SRRl 3 syt fotfag )

Write the reasons of localization of Tata Iron and Steel Company.

[4]

3751/ OR
e e AR & TS F SR fafEe

Write the reasons of localization of Bhilai Steel Plant.

frdvr . () W HAIE 18 W 20 TR ITdd W ¥ 1 WRE T W
5 3t oTeTed 1 (W H Afrehad U=Z-H41 150 W= ®)

Instruction : (F) Question Nos. 18 to 20 are long answer type questions.

Each question carries 5 marks. (Maximum word limit of

answer is 150 words)

yv-18  fai 3 e &1 9o FreAifra widen! % ST W i - (5]
(a) T &7 OBR LUERICE!
(c) 59 (d) ™H
(e) =IIUA CGBOARDonline.com

Describe Pigmy’s life on the basis of following titles :
(a¢) Residence area (b) Physical formation
(¢) Clothes (d) TFood

(e) Business

3793/ OR

a3 it a1 o Pt Y ¥ ST R SR
(a) Fram &3 (b) IO TS
() == (@) i

(e) =H9HMY



weT-19

wei-20
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Describe Masai’s life on the basis of following titles :

(@) Residence area (b) Physical formation
(¢) Clothes (d) Food

(¢) Business

T - CG i
1 O ¥ 3y fafEwy (Hﬁi )] BOARDonline.com

Write the solution of conservation of forest. (any five)

. 3rer@l/OR
g T ¥ 3ur fafan) (# 9 )

Write the solution of soil conservation. (any five)

TR 3 drarERR FART e oy wifg

(a) F=5 F @R (b) formETIT™ W

(c) Yo g d) TR

(e) mEa Tad

In outline map of India, show the following :

(@) The Gulf of Kutch (b) Vishakhapatnam Port
(¢) Pulicot Lake (d) Narmada River

(e) Aravali Mountains

Hgqr/OR
oaaTe % SR wafas # Preifea 1 v it
(a) TEA T (b) TG T TAUF
(c) SeE (d) 0 SERE &5
(e) L AA W S¥IH CGBOARDonline.com

In outline map of Chhattisgarh, show the following :

(a) Hasdo River (b) Capital of Chhattisgarh
(¢) Bhoramdev (d) Diamond producing area

(e) Kanger Ghati National Park

&)

5]



